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Multiple choice Questions

Which algae have Heterocyst?
(a) Volvox (b) Nostoc (c) Zygnema (d) Ectocarpus
Volvox colony with definite number of cells is known as-----------~
(a) Pseudopodium (b) Coenobjum  (¢) Conidium (d) Gonidium
Which algae produce cystocarp?
(a) Ectocarpus (b) Batrchospermam (¢} Zygnema (d) Volvox -
Star shaped chloroplasta are present m................... L
(a) Volvox (b) Nostoc (c) Zygnema (d) Ectocarpus
Which fungi grow on bread? .
(a) Penecillium (b) Rhizopus  (c) Mushroom (d) Yeast
The lower swallow part of archegonium is knownas...................
(a) neck (b)venter (c) capsule (d) stalk
Fungal cellwall is made up of.................
(a) chitin (b) cellulose  (c) lignin (d) pectm
In Lycopodium sporangium originates on.............
(a) spore  (b) miorosporophyll {c) sporophyll (d) hgule
Group of sporangia in fern is known as............ -
() sporangiophore (b) sorus  (c) sporophyll (d) strobﬂlus

10. Sporophyll is a fertile leaf that bears................
(a) antheridia (b)archegonia () conidia (d) sporangia

Q-2

Answer the following questions in brief  (Any 10)
Name the male and female sex organs of Batrachospermum
What is akinetes?
Write about budding in Yeast.
“ Fungi are heterotrotrophs” Explain.
Describe the vegetative structure of Rhizopus.

What is alternation of generation?

Sketch and label Fern sporangium.

Write xerophytic characters of Equisetum.,

10 Describe the structure of archegonium of Anthocerous.

11. Define-Plecto stele :

12. Write a short note on spore dispersal mechanism in Funaria.
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State the functions of rhizoids and enlist their types in Riccia.
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Q-3 (a) Describe scalariform conjugation in Zygnema
(b)  Describe the plurilocular sporangium of Actocarpus
“TToR

(a) Describe the thallus structure of Batrachospermum
(b) Explain the asexual reproduction in Volvex.

Q- 4 (a) Describe asexual reproduction inPenicillum
(b)  Describe sexual reproduction inRhizopus

OR

(a) Describe Cell structure of Yeast
(b) Write about fungi as food

Q-5 (a) Describe sex organs of Riccia )
(b) Draw a labeled diagram of capsule L.S.of Funaria

OR
(a) Describe the sporophyte of Anthoceros
(b) Describe antheridiophore of Funaria.

Q-6 Describe the internal structure of Lycopodium stem with diagram

OR
(a) Describe prothelus of Nephrolepis
(b) Describe strobilus of Equisetum
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